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B 3
EHBH
Pa N/mm? bar {{kgtlcm?)| (rorr)
JPa=Nm2 - 4 10-6 10-5 |1.02x10-%| 0.0075
1 Nfmm?2 ={ 108 1 10 102 | 7.5 x10°
1 bar =[ 108 0.1 1 1.02 750
(1 kgi/em 2=1 at)=| 98100 |9.81x10-2 | 0981 1 736
(1 Torr) ¥ =| 133 [0.133x10-3[1.33x10"31.36+ 10-3 1
ThibhBafr
J KWh | (kgt m) | (kcal) {(hp 1y
1J2 = 1 |0278:107%| 0.102 [.239-10-70.378:10"¢
1 kW h =|3.60:108 1 367x10° | 860 1.36
(1 kgf m) = 981 [272x10°® 1 P.34510°%3.70:10°¢
(1 keal) =|4186.8 | 1.16x10°3 | 4269 1 1581073
(1 hp h) =126510%0 0736 [0.27<105| 632 1
ThERL
W KW | (kgf m/s)| (kcallh} | (hp)
1w3 = 1 1073 0.102 0860 |1.36¢10°3
1 kW =| 1000 1 102 860 1.36
(1 kgf nv's) = 981 ;9.81x10"3 1 843 |13.3-10°3
(1 kcal h) =f 116 |1.16»10"3] 0.119 1 1581072
(1 hp) =l 736 0.736 75 632 1
15 = 200 mg = 0.2 x 10-kg = 1/5000 kg
RIE & Ml A
24 3 2 1000.00 %o I 18 F 2 750.00 %o
14 ¥ 2 583.33% 8 F 2333.33%0
R
[t _5 Ty K|ec °F | Rank
7= (”c N 273"5) <9 Rank B8Ry ass e ger
I
Ta= (D—Fi + 459, 67)Rank =2 T Rank O P e
§(‘ ~32)%c —--27315)c
9 \°F
=(g 3'—+32) (—LT 45967)
5 C Rank

e

21J=1Nm=1

Ws

Y 1r1orr = 1/760 atm = 1.33322 mbar =

1 mmHg{r=0°C)

IMW=1Js=1Nmis



A
A By
X -RPMMAFRRSBRN

K ph

b3y ER 224 mm m km
1% = 1 0.08333 | 002778 | 254 | 0.0254 - a6l
t %R =| 12 1 0.3333 | 304.8 0.3048 - a62
18 =| 36 3 1 914.4 | 09144 - a 63
1mm =|0.03937 | 3281x10-6| 1094x10-8| 1 0.001 105 la64
1 m =|398.37 3.281 1.094 | 1000 1 0.001 [ass5
1 _km __=| 39370 3281 1094 108 1000 1 _la6e
mRAM

Vst | BRR F A cm? dm? m?
Tpysst=l 1 [6.944x1073)0.772x107% 6.452 | 0.06452{64.510 5a 67
PEEHER=] 144 1 0.1111 929 9.29 | 0.0929 Jas6s
1PEg =| 1206 9 1 8361 | 83.61 | 0.8361 Ja6d
tem? =] 01585 |1.076x10-3[1.197x10-4[ 1 0.01 | 0.0001 fa70
1dm? =] 155 01076 | 0.01196 | 100 1 0001 Ja71
1 m? =} 1550 10.76 1196 |10000| 100 1 a72
GFafr

ik | iR | sy L em? [ dm? |
B =] 1 [5.786x1074{2.144x107%| 1639 | 0.01639{1.64<10%}a 73
i JisEp=] 1728 1 0037 |28316| 28.32 | 0.0283 |a74
1 R =) 46656 27 1 764555| 764.55 | 0.7646 Ja75
1cm® =]0.06102 |3532x10-8{1.31x10-% 1 0.001 10-% Ja7e
1dm® ={ 61.02 | 003532 | 0.00131 | 1000 1 0001 {a77
1 m? =) 61023 35.32 1.307 105 1000 1 a78
;3 1::Lus

fr #r [ g kg Mg
14724 = 1 00625 |0.003906 |1.772 | 0.00177[1.77210751a 79
1 &d = 16 1 00625 |2835 [0.02832|28.3-10-%]as0
1 8 =| 256 16 1 453.6 | 04536 {4.53x10~*|a 81
1 g ={05643 | 003527 [0.002205 1 0.001 10¢ la82
1 kg =| 564.3 3527 2205 | 1000 1 0001 |as3
1Mg =5643x10% 35270 2205 108 1000 1 a84
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da = = 10' d = % = 10"
h = 7 = 107 c = H = 10-?
k = 1 = 10° m = = 107
M o= % = 10° wo= = 106
G = wom = 10° noo= mGy = 10°
T = k@ = 10" p = #@En = 107
P = #Hiey = 10" t = g HE) = 1077
E = goug = 10" a = pgo = 107
KRB
m m mm cm dm km
at]l 1m = 1 10° 10° 10?2 10 10-2
a2{ tpm = | 10® 1 10-3 | 104 | 105 | 10-°
ad3] 1mm = § 103] 10° 1 107" | 102 | 10°¢
a4l 1em = | 1072 | 10° 10 1 0] 10
as| 1dm ={ 107 108 102 10 1 107
a6 1km =] 10° 10° | 108 108 10t f 1
KA ()
mm | pm nm (A’ | pm | (mk)?
a7| 1mm = 1 108 108 107 10° 10"
a 8] 1pm = 10? 1 103 104 108 107
a9l tgm = | 10¢] 107 1 10 10° 10
a10] (1A = | 107 ] 10| 10" | 1 102 | 10°
an| 1pm = | 100 { 0% | 1077 | 1072 1 10
at2f (1mA)’ = { 107®] 107 | 0% | 1672 { 10" 1
2L S
m? wm? mm? | om? dm? km?
a13] 1 m? = 1 10 108 10 10? 10°°
atd] 1um?2 = 10| 9 106 | 10® | 10~ 108
a5} 1mm2 =] t0° | 1ee 1 1072 ) 1074 1072
816 1cm?2 =1 104 108 102 1 10-2 | 10"
al7] 1dm? = | 102 10° | 10° 102 1 10°®
at8| tkm?2 ={ 108 19 | 102 | 10 | 108 1
" R =#(10%m) ] 21 mA = 1XE = 1 xtgy
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m3 mm? cm?® dm3 " km?3
1 m = 1 10° 108 10° 10°? aig
1mmd = 10-9 1 10 ? 108 10-'%  |a20
1 cem® = 1076 10° 1 10°? 100 Ja21
1 am?® = 1073 108 10° 1 1072 Ja22
1 km® = 10° 1018 1015 102 1 a23
53 L0
kg mg 9 dt t = Mg
1 kg = i 108 10° 1072 103 Ja2e
1mg = 1076 1 103 108 10°% Ja2s
1 g = 1073 109 1 10-5 10-6 a26
1 dt = 10? 108 109 1 107! a27
1t=1Mg= 10° 10° 108 10 1 a28
8] BA T
S ns us ms min
1 s = 1 107 10° 103 16.66x107% Ja29
1 ns = 1079 1 1073 10°% (1686x10"21a30
1 us = 10 ¢ 10° 1 1072 116.66x107° [a31
1 ms = 1073 108 10° 1 16.66«107¢ |a32
1 min = 60 60+10° | 60x10° | 60x10° 1 a33
1 h= 3600 {3.6410'7| 3.6410° | 3.6x10° 60 a34
1_d-= 86.4x10%|86.4x10"| 86.4x10°| 86.4*10° 1440 a35
heveasr baEED)
N2 kN MN (kgf) (dyn)
1 N-= 1 1073 10°% |0.102 108 a36
1 kN = 109 1 1073 {0.102x10° 108 ag37
1 MN = 108 10° 1 0.102x108 10" 238
W1 dm® =1L D=1 7 2N =1kg-mis? = 14 (8]
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a 86
ag7

288
agy
a90

a9
492
a 93

a94
ag95
a96

a97
a98

al00
ailol
al02
al03
a104
alos
at06
al07
al08
al09
alto
a1t
alt2
al13
all4
al1s
alte
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1 R%7GH) = 148 )

FEE A4
Thegsafr
g | kgfm [U=Ws kWh kcal | ish gy
1RRE 1 0.1383 | 1.356 |376.8x10° 324*10‘541.286*10’3
tkgfm =| 7233 1 9.807 [2.725+1076[2.344x10-39.301x103
1J=1Ws=| 0.7376 { 0.102 1 [277.81079 2391076 |948.4x10-6
1 kW h  =2.655+108|367.1x10%3.6+108 1 860 3413
1 kcal =3.087x10° 4269 | 4187 [1.163<103 1 3.968
1%umA = 778.6 107.6 | 1055 | 293x10-¢ 0.252 1
ThRPH
3 ) | kof mis jJis=W kW kcal/s | xEampiy s
1430 = 1 76.04 | 745.7 | 07457 0.1782 0.7073
1 kgf m/s=13.15x10-3 1 9807 b.807k10‘3 2344!10'3‘ 9.296x10°2
1Jis=1W=01.341:103) 0.102 1 1073 | 239~07° [948.40°°
1 kW =l 1.341 102 1000 1 0239 0.9484
1 kcal/ls =| 5614 426.9 | 4187 4187 1 3.968
1xeanwe =l 1415 1076 | 1055 1.055 0.252 1
Hib gLy
18H = 10793 = 0.0254 mm
1 hE = 1076 ¢ i3 = 645.2 um?
18 =3 %R = 0.914m
1 M () = 5280 PR = 1608 m
1 WOE = 6080 KR = 1852 m
1 s = 7420 m
1 CGEKCH) = 2240 # = 1.016 Mg
1 RE R = 2000 # = 0.9072 Mg
1 BEE ) = 2240 g0 = 9.96 MN
18R = 2000 B85 = 9.00 MN
1 At (%) = 1.20 i O = 4 546 dm®
1 it () = 231 5L st = 3.785 dm?®
1 EHRBER/ THEN = 9.547 keal/m3 = 39.964 kJ/m?
1 Kk TL/85 = 0 556 kcalkg = 2.327 kJ/kg
1 FH/PHER = 4 882 kgf/m? = 47.8924 N/m?
1 80/ 1 5%) = 0.0703 kgflcm? = 0.6896 N/cm?
1M =224 = 1004 = 20.11m
1 RHEE, o) = 1128 ) = 498 kN
VUsrZ -~ (38) = 28 & H = 124.5 kN

62.3 kN
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a2 + b2
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dg*

a-h=a-b-sina
Via+ h-cota)?+ i
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2 A
bi4] 4 = SVF
a
b15) K = 3\/:'7
b16| A = %r’\/1o+2\/T
b17|] a = %r\/w-z\/?
bie| o - zrVe+2vs
38 '

AB =05 r, BC = BD, CD = CE
3
b19| 4 - $aVTF

b20] 4 = 24
2

b2ty = =5 = 11655
V3

b22| s = fgld = 0.866d

b23] A =~ 2as = 0.483¢°
b24 = 25VaZ-s2

b25| a = s-1an22.5° = 0.415 5
b26| s = d-c0822.5° =~ 0.924 4
b27| 4 - =~ 1.083 5

5
cos 22.5°

D28] A = A +Az+ A,

b29 - a-hyvb-ho+b-hy
2




